BEF—RFHAFKER E=2) TR (AIHEEMP)

BIEAREER A 1EPY [iic]
(4 Sv.” h) (U Sv.”h) (U Sv.”h)
2016/7/5 0:00 16 1 2
2016/7/5 0:30 16 1 2
2016/7/5 1:00 16 1 2
2016/7/5 1:30 16 1 2
2016/7/5 2:00 16 1 2
2016/7/5 2:30 16 1 2
2016/7/5 3:00 16 1 2
2016/7/5 3:30 16 1 2
2016/7/5 4:00 16 1 2
2016/7/5 4:30 16 1 2
2016/7/5 5:00 16 1 2
2016/7/5 5:30 16 1 2
2016/7/5 6:00 16 1 2
2016/7/5 6:30 16 1 2
2016/7/5 7:00 16 1 2
2016/7/5 7:30 16 1 2
2016/7/5 8:00 16 1 2
2016/7/5 8:30 16 1 2
2016/7/5 9:00 16 1 2
2016/7/5 9:30 16 1 2
2016/7/5 10:00 16 1 2
2016/7/5 10:30 16 1 2
2016/7/5 11:00 16 1 2
2016/7/5 11:30 16 1 2
2016/7/5 12:00 16 1 2
2016/7/5 12:30 16 1 2
2016/7/5 13:00 16 1 2
2016/7/5 13:30 16 1 2
2016/7/5 14:00 16 1 2
2016/7/5 14:30 16 1 2
2016/7/5 15:00 16 1 2
2016/7/5 15:30 16 1 2
2016/7/5 16:00 16 1 2
2016/7/5 16:30 16 1 2
2016/7/5 17:00 16 1 2
2016/7/5 17:30 16 1 2
2016/7/5 18:00 16 1 2
2016/7/5 18:30 16 1 2
2016/7/5 19:00 16 1 2
2016/7/5 19:30 16 1 2
2016/7/5 20:00 16 1 2
2016/7/5 20:30 16 1 2
2016/7/5 21:00 16 1 2
2016/7/5 21:30 16 1 2
2016/7/5 22:00 16 1 2
2016/7/5 22:30 16 1 2
2016/7/5 23:00 16 1 2
2016/7/5 23:30 16 1 2




RBEE—BRFHRERR T4V IHER(EZAIVTH—)

KEZRITH—TOREIZISHEBH T HAREMENHY . T—2ARITHEELH L.
MEM-ARIZDVTE, 10mEORREBBIET (REETER) IZLDRIEE. BE0Sm/sKAEDIZETCALMIFER), RA%EN— |EREE,

*x7/5 9:10~11:10, 13:50 {EEFBIZLD R,

== REXR i FRRER RIR
el Ry (M Sv/h) (M Sv/h) K& e (m/s)
ic] | 2016/7/5 0:00 0.9 <0.01 =l [dedeeE| 1.4
ic] g 2016/7/5 0:10 0.9 <0.01 =l it 1.8
it 2016/7/5 0:20 0.9 <0.01 =) it 2.0
it 2016/7/5 0:30 0.9 <0.01 =) it 1.6
it 2016/7/5 0:40 0.9 <0.01 =) it 1.6
it 2016/7/5 0:50 0.9 <0.01 =) it 1.5
il 2016/7/5 1:00 0.9 <0.01 =) it 15
[ic] i 2016/7/5 1:10 0.9 <0.01 =l it 14
il 2016/7/5 1:20 0.9 <0.01 = | dededE| 1.3
(il 2016/7/5 1:30 0.9 <0.01 551 Jbdb#E|[ 15
(il 2016/7/5 1:40 0.9 <0.01 551 it 15
il i 2016/7/5 1:50 0.9 <0.01 =) it 14
75 P 2016/7/5 2:00 0.9 <0.01 £ it 1.7
75 P 2016/7/5 2:10 0.9 <0.01 £ [dedeE| 20
75 P 2016/7/5 2:20 0.9 <0.01 £ it 2.1
75 P 2016/7/5 2:30 0.9 <0.01 £ it 2.0
75 P4 2016/7/5 2:40 0.9 <0.01 £ it 2.2
75 P4 2016/7/5 2:50 0.9 <0.01 £ [dedeE|[ 23
75 P4 2016/7/5 3:00 0.9 <0.01 £ it 16
75 P4 2016/7/5 3:10 0.9 <0.01 £ it 1.9
il 2016/7/5 3:20 0.9 <0.01 £l it 2.6
il 2016/7/5 3:30 0.9 <0.01 =) it 2.7
il 2016/7/5 3:40 0.9 <0.01 =) it 2.3
il 2016/7/5 3:50 0.9 <0.01 =1 it 1.9
il 2016/7/5 4:00 0.9 <0.01 =Y | dededE| 1.9
il 2016/7/5 4:10 0.9 <0.01 =Y | dededE| 1.9
il 2016/7/5 4:20 0.9 <0.01 =Y | dededE| 2.1
il 2016/7/5 4:30 0.9 <0.01 =Y | dededE| 24
il 2016/7/5 4:40 0.9 <0.01 =Y | dededE| 1.3
il 2016/7/5 4:50 0.9 <0.01 =Y | dededE| 2.2
il 2016/7/5 5:00 0.9 <0.01 =Y | dededE| 1.4
75 P4 2016/7/5 5:10 0.9 <0.01 £ [dededE| 1.7
75 P4 2016/7/5 5:20 0.9 <0.01 £ it 1.8
Cicl g 2016/7/5 5:30 0.9 <0.01 £ it 2.0
Cicl g 2016/7/5 5:40 0.9 <0.01 £ it 2.2
ic] g 2016/7/5 5:50 0.9 <0.01 =l it 2.6
it 2016/7/5 6:00 0.9 <0.01 =) it 3.0
it 2016/7/5 6:10 0.9 <0.01 =) it 2.7
it 2016/7/5 6:20 0.9 <0.01 £l |JkdkE]| 32
it 2016/7/5 6:30 0.9 <0.01 £l | JkdkE]| 29
il 2016/7/5 6:40 0.9 <0.01 £l | JbdbE| 2.1
sl 2016/7/5 6:50 0.9 <0.01 =l it 3.0
il 2016/7/5 7:00 0.9 <0.01 =l it 2.6
[ic] i 2016/7/5 7:10 0.9 <0.01 =l it 2.7
[ic i 2016/7/5 7:20 0.9 <0.01 =l [dededE| 2.0
(il 2016/7/5 7:30 0.9 <0.01 =) it 2.3
(il 2016/7/5 7:40 0.9 <0.01 =) it 3.0




o= RERE i FIRER o AR
AT H & (W Sv/h) (1 Sv/h) R | BE | ()
75 P 2016/7/5 7:50 0.9 <0.01 £ it 3.1
[l 2016/7/5 8:00 0.9 <0.01 £ it 2.7
[l 2016/7/5 8:10 0.9 <0.01 £ it 35
(il 2016/7/5 8:20 0.9 <0.01 £ it 3.2
(il 2016/7/5 8:30 0.9 <0.01 551 it 3.1
il 2016/7/5 8:40 0.9 <0.01 =Y |dedeE| 2.7
il 2016/7/5 8:50 0.9 <0.01 =Y |dedbE| 3.1
il 2016/7/5 9:00 0.9 <0.01 =Y |dedbE| 33
il 2016/7/5 9:10 *% <0.01 =Y |dedbE| 33
[iic] i 2016/7/5 9:20 Hok <0.01 55] dedeE| 3.1
[iic] i 2016/7/5 9:30 Hok <0.01 55| dtdexE| 34
il 2016/7/5 9:40 K% <0.01 =Y |dedbE| 3.0
ic] ! 2016/7/5 9:50 *ok <0.01 55] dtdeE| 28
il 2016/7/5 10:00 *% <0.01 =Y |dedeE| 27
Cicl g 2016/7/5 10:10 Kok <0.01 =) it 25
ic] g 2016/7/5 10:20 *k <0.01 £ [dedeE|[ 3.9
ic] g 2016/7/5 10:30 *% <0.01 £ [dedeE| 3.2
ic] g 2016/7/5 10:40 *% <0.01 £ [JedexE| 33
ic] g 2016/7/5 10:50 *x% <0.01 55] dedeE| 383
ic] g 2016/7/5 11:00 *x% <0.01 £ [dedeE|[ 29
Cicl g 2016/7/5 11:10 Kok <0.01 £ [dedeE|[ 1.9
il 2016/7/5 11:20 0.8 <0.01 £Y  [dedeE]| 2.2
ic] g 2016/7/5 11:30 0.9 <0.01 =l | 3.3
ic] g 2016/7/5 11:40 0.9 <0.01 £l |JkdkE]| 3.2
it 2016/7/5 11:50 0.9 <0.01 5] LdLE| 2.0
it 2016/7/5 12:00 0.9 <0.01 5] JLdLE| 3.0
it 2016/7/5 12:10 0.9 <0.01 /M JtdLE| 3.1
it 2016/7/5 12:20 0.9 <0.01 £l |JkdtE]| 30
[ic] i 2016/7/5 12:30 0.9 <0.01 551 JtdLE| 3.2
sl 2016/7/5 12:40 0.9 <0.01 =l B % 2.6
[ic] i 2016/7/5 12:50 0.9 <0.01 551 JtdLE| 3.1
il i 2016/7/5 13:00 0.9 <0.01 = |dedeE| 23
[ic i 2016/7/5 13:10 0.9 <0.01 55| dLE| 26
[ic i 2016/7/5 13:20 0.9 <0.01 55| JtdLE| 3.1
ic] i 2016/7/5 13:30 0.9 <0.01 /M ddLE| 26
75 P 2016/7/5 13:40 0.8 <0.01 £ [JedeE|[ 28
il 2016/7/5 13:50 *k <0.01 = |dedeE| 23
75 P 2016/7/5 14:00 0.9 <0.01 £ E 2.0
[iic] i 2016/7/5 14:10 0.9 <0.01 /M | 2.6
75 P4 2016/7/5 14:20 0.9 <0.01 £ [dedeE|[ 241
il 2016/7/5 14:30 0.9 <0.01 =Y |dedbE| 23
il 2016/7/5 14:40 0.9 <0.01 £l dtE 24
il 2016/7/5 14:50 0.9 <0.01 £l dtE 1.9
il 2016/7/5 15:00 0.8 <0.01 =Y |dedbE| 1.8
il 2016/7/5 15:10 0.9 <0.01 =Y |dedeE| 1.7
il 2016/7/5 15:20 0.9 <0.01 =Y |dedbE| 1.8
[iic] i 2016/7/5 15:30 0.9 <0.01 5] dtE 1.8
il 2016/7/5 15:40 0.9 <0.01 =) dtE 1.6
il 2016/7/5 15:50 0.9 <0.01 =) dtE 1.6
75 2016/7/5 16:00 0.9 <0.01 =Y | dedbE| 2.1
ic] ! 2016/7/5 16:10 0.9 <0.01 55] ddeE| 1.9
il 2016/7/5 16:20 0.9 <0.01 =) it 1.8
il 2016/7/5 16:30 0.9 <0.01 =) it 2.2
75 P4 2016/7/5 16:40 0.9 <0.01 £ it 2.1
[iic] i 2016/7/5 16:50 0.9 <0.01 =l it 1.8




o= RERE i FIRER o AR
S5 HE (M Sv/h) (4 Sv/h) K| BE | (e
Cicl i) 2016/7/5 17:00 0.8 <0.01 =) it 2.0
[l 2016/7/5 17:10 0.9 <0.01 £ it 16
[l 2016/7/5 17:20 0.9 <0.01 £ it 1.8
(il 2016/7/5 17:30 0.9 <0.01 £ it 15
(il 2016/7/5 17:40 0.9 <0.01 £ b | 1.1
[icli 2016/7/5 17:50 0.9 <0.01 £l | I 1.8
[icli 2016/7/5 18:00 0.9 <0.01 =l b i 1.1
[icli 2016/7/5 18:10 0.9 <0.01 =l b | 0.7
[icli 2016/7/5 18:20 0.9 <0.01 £l || 1.0
[icli 2016/7/5 18:30 0.8 <0.01 £l | FmILFE| 15
(il 2016/7/5 18:40 0.9 <0.01 £l || 1.2
(il 2016/7/5 18:50 0.8 <0.01 =l B | 0.8
i i 2016/7/5 19:00 0.8 <0.01 =l it 1.2
i i 2016/7/5 19:10 0.9 <0.01 =l | JededE| 1.3
[iic] i 2016/7/5 19:20 0.9 <0.01 =l b oric] 0.9
[iic] i 2016/7/5 19:30 0.9 <0.01 =l | #mdLdE| 0.9
[ic] i 2016/7/5 19:40 0.9 <0.01 =l | i 14
[ic] i 2016/7/5 19:50 0.9 <0.01 =l | i 1.9
ic] g 2016/7/5 20:00 0.9 <0.01 £l || 20
ic] g 2016/7/5 20:10 0.9 <0.01 £l) | FmiLdE| 1.8
ic] g 2016/7/5 20:20 0.9 <0.01 £l || 1.9
ic] g 2016/7/5 20:30 0.8 <0.01 £l | FmILFE| 1.6
[iic] i 2016/7/5 20:40 0.9 <0.01 £l | FmILFE| 2.1
[iic] i 2016/7/5 20:50 0.9 <0.01 £l || 1.7
[ic] g 2016/7/5 21:00 0.9 <0.01 =l [FEdE| 1.8
[ic] g 2016/7/5 21:10 0.9 <0.01 =l |[FEdE| 1.8
[ic i 2016/7/5 21:20 0.9 <0.01 =l [FEFE| 16
[ic i 2016/7/5 21:30 0.9 <0.01 =l [FEdE| 1.7
[ic] i 2016/7/5 21:40 0.9 <0.01 =l |[FEdFE| 1.4
[ic] i 2016/7/5 21:50 0.9 <0.01 =l |[FEFE| 16
[l 2016/7/5 22:00 0.9 <0.01 551 fEikdm| 1.3
il 2016/7/5 22:10 0.9 <0.01 = | FmdE| 14
il i 2016/7/5 22:20 0.9 <0.01 = | FAmddE| 1.3
il i 2016/7/5 22:30 0.9 <0.01 =) [ii] 0.6
(il 2016/7/5 22:40 0.9 <0.01 551 fEdkFm| 1.2
il i 2016/7/5 22:50 0.9 <0.01 =) [ 1.3
il i 2016/7/5 23:00 0.9 <0.01 =) [ 1.3
il i 2016/7/5 23:10 0.9 <0.01 =) [ 1.2
il i 2016/7/5 23:20 0.9 <0.01 =l [fEEdE|] 1.2
il i 2016/7/5 23:30 0.8 <0.01 =l |[FEEdE| 1.3
Cicl g 2016/7/5 23:40 0.9 <0.01 =l |[FEmEdE|] 1.2
Cicl ] 2016/7/5 23:50 0.9 <0.01 =Y |mfmfE| 15
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